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1. Of the following, which corresponds to a compoun< “ith exactly ong
ring or doubie bond 7
Laguelle des formuias suivantes représente un cc. 50sé ayant une
structure cyclique cu une double liaison?
A) CsHigO Bj CsH1sCLO
C} CsH440CH D) CsHyCIO E) CsH,0;

| P-4 @48-%‘ If 4.0g of a gas obcup'res 11.2L at 0°C and (.25 atmosphere, then
: ._.pm3 ir? /o) Kthe molecular mass of the gas is
Si 4 g dun gaz occupe un volume de 11,2L & 0°C et a 0,25
a!mosphere slors sa masse moléculaire est
| P.mw\( g-o, o8 A B) 169 C) 324 D) 489 - E)64g
j ——ce 7 N pdmT Om.S /mo\-
i - : ; P Which of the following is the pH of a solution obtained by mixing’
' 50.0mL of 0.100 M HA and 50.0mL of 0.100 M NaQH?
Lequel des pH ci-aprés est celui dune solution obtenue en
mélangeant 50 mL de HA & 0,1M et 50 mL de NaOH & 0,1M ?
. Neutral if HA is a strong Acid?/ Neutre si HA est un acide fort
Il Basicif HA is @ weak ac'd/ Basique si HA est 1in acide faible
1. Neutral if HA is a weak acid f Neutre si HA est un acide faible
A) | only/seulement B) i only/seulement
i C) il only/seulement D)1 andlet I E) l and/et Il

&SWD.K

4. Given that a certain organic compound absorbs light in the visible
region, it CANNOT be true that it
Si un certain acids crganique sbsorbe la Jumiere visible, il NE PEUT
PAS ETRE VRAI QUE ce composé
A)is aromatic/ est un comoosé aromatique
B)is an atkane! est un alcang
C) is coloured/ esf coloré
D) contains a nitro group/ contient un groupe azoté
E) contains achlorine atom / contient un atome de chiore

-5, What s the oxidation state of chromium in (NH,),Cr,0;?
; ’ Quel st le numéro d'oxydation du chrome dans (NH4)2Cr072
' _ A) +7 Bi¥g C)j5 D) +4 E)+3

6. Which of the following has the largest radius?

Lequel des éléments suivants a le plus grand rayon?
A) Ca® B)K' C)Ar _D}.C!' . E) 8%
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‘%‘ 't‘ nich of the following is NOT accompanied by an incr

10.

L2ntropy of the system?
Lequel des événement ]
ments suivants n'est pas a ]

_aug.'v_?enfanon de l'enfropie du systéme? 7 PEIPRES L
e.i Egsiﬁargmg a battery | Décharger une batterie

:) Botling water at atmospheri ' ‘

_ eric pressure/ i y S la

wession atmosphérique SR el &
C) Vv i ixi i

Cgma?ri sj.ow’m;xlng of hot and cold water in 2 well-insulate
cor ner Meian_ger frés lentement de l'eau chaude et de | -
froide dans un recip.ent bien exposé aw soleil ) e

. D) Very slow expansion of a gas into an evacuated flask /

Une expansion trés lente du gaz dans un ballon vide

g B i sion ‘
) Rapid expansion of a gas and recompression to its original

t 1 . p

. etune rec on &
ompression a ses température, pression etvolume initiaux

Whi "
fthl’; of the fo!l?wmg Is 2nother way tc express the Cont i
Eaa g }.;COSG solution that is 0.01 percent by \:fpighht';lu A

i cigi. e des ‘P!’OP?SIUOHS suivantes est uns auire 'fa"ﬂn dexpri
( Cenfrfaﬁon d'une solution de glucose qui e 0,67 % por
i g | qui est de 0,G7 % par

A) 1 ' ‘

) 1.0 ppb B) 100 ppm  .C) 10ppt??D} 1.0 ppt E) 1.0%

Atadioactive i

be!ca) Wloiitévs E:!sfc;??p;e of copper‘_‘""‘Cu decays via the reaction shown
A -iife for the reaction is 12.8 hours. Starting with ‘EOOIQ

- B4
. f . 54 .
of “Cu, how much *Zn is produced in 25.6 hours

¥ S ." :
N =

A) 12.5¢

ol
C)50.0 g el

| D) 75.09 E)100.0g
| Rog
f the elementary step A>B has a reaction enthalpy of -5C K. and

ar activation of 10 kJ, the activati
ety , the activation energy for the reverse step. B

Si I'étape élémentaire A3B 2 une enthalpie de -50KJ et une

activation de 10kJ, I'é ie d’activati
o [ energ@ d a_'_::trvlat:on pour I'étepe inverse B2A

AJOKS - B)10k

Cl40K T .- .iD)50kJ E) 60 kJ

- i

" A

eese ¢ '
WV\R/\}%US| esconcours.inf@ne reaction of nitrogen dioxide with water yields

| a réaction enire le dioxyde d'azole et l'eau produit .
A) HNO; onlyluniquement B) HNO, onlyluniquemarit
C) HNO;andiet NO D) NH; and / et H,0;

E) NHsand/ et O

42 Which of the following corrpounds produces H2 gas when added 10
water? Lequel des compaosés suivants produit du H2 lorsqu'l réagit
avec de l'eau? '
A) LiH
C) NH;

B) CHy4
D) PHa E) HaS

13 Which of the following is—NOT true about the electrolysis. of

concentrated aqueous sodium chloride?

Laquelle des propositions suivantes NEST PAS VRAIE en ce gui
concerne ['électrolyse du chlorure de sodium aqueux concentré 7
A) Sodium metal is 2 final product? / Le melai sodiurm est le
produit fing!
B) H,is produced from H,0 [ H2 est produit & partir de H20
C) One mole of Hy is produced for each mole of Cl, producad /
Une mole de H2 est produite pour chaque mole de Ci2
produite
D) ltis a redox reaction / C'est une réaction redox
E) It yields products that are thermodynamically less stabie
than the reactions / Elle produit des composés qui sont
‘moins thermodynamiquement stables que les réactlions.

14. Given that dU=TdS-PdV and that H=U+PV, which of the following is
true? Etant donné que dU=TdS-PdV et que H=U+PV, laqueile des.
propositions suivantes est vraie ? ‘ '

A) gH=TdS+VdP ' ;
B) gH=SdT-VdP ‘

C) = -8dT-PaV

D) dH=dU+dPV

E) gH=¢U-TdS

- 15. A reaction is at equilibﬁium in a closed

; temperature when : .
Une réaction est en équilibre dans un récipient fermé rigide @

terpérature constante lorsque *

figid vessel at constant

A) 45=0 B)AH =0
C)aU=0 DyAG=0

E)8A=0 : " i
- - e e - "'3
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i6. Al a2n sh T . ’ 1 ] |
5. A hydrogen in which position in the structure below is mostac"é‘{’é’;’W-tOUS'esconcours_mfo C) Vaporisation of one ride of water gt 59°C g cpen i ©

Quel est I'hydrogé j it j . . ; ;
Erii iydrogene le plus acide de toys les hydrogénes de ia container / La vapsrizezon d'une mole d'eau & °C darz T
cture ci-Gessous? : . P : -
un récipient ouvert .
(2 £3 A} A D) Melting of 100g of ice . 3 laboratory bench top / La fusion
I 1§ B)B i de 100g de glace sur ¢ ~ banc de laborstoire -
CH OB OH or iy T ciC ‘ E) Combustion of methar ina constant volume container / La ‘
"l ;'3_ '.i 2 l* D)D combustion du methzne dans un récipient de volume
i
F ; E constant . '
L § t $ -} W& co t
"I 3 K : , : : .
&4 & T : 21. If helium gas trapped in a cytiinder wiih 3 movable siston underjoes

an adiabatic expansion, which of the following statements is true for

17. Of the foliowi 5 s s I - the expansion?
Lequeifggzv\af‘;%:sa E:Z%gi,ﬁ;ﬁi Wmih is the mostacidic? (q= hé)at; w = work: AU = internal energy chang £) :
" Ay CHCOLH €s suivanis est le plus agfty? . Side I'hélium piégé dans un cylindre avec un piston mobile subit
‘ une expansion adiabatique, l=quelle des affirmations suivantes est
vraie, en ce qui concerng i'expansion? :

i3t (OOLH
L 1 : {q = chalsur ; w = travail ; AU = changement ds {'énergie interne]
e 3?'”:\&'-_,_ o A)g=w Byw=2g Ciau=o0 DyaU=g¢ EyaU=w
"\ - ;fr S : .
T v, 22 A weak acid. HA, has a K, of 1.00 x 107, 17 0.100 mole of this acid.is
) By Ehecas dissolved in one litre of water, the percentage of acid dissociated at
B 1000 equilibrium is closest to Ee l '
S ! Un acide faible, HA, a un K, de 1 X107 . Si 1 mole de cet acide est

dissoute dans un litre d'eau, le pourcentage d'acide dissocie a
I'équilibre est proche de

18. Of the following, which is the
, ! stron
A) 0.100% B) 1.00% . C) €9.0 % D)99.9 % E) 100.0 %

solution? -
‘

Lequel des composés ci-apré ?
7 -apres reprn aci
e s aquerg? D =esem‘e l'acide de Bronsted le

gest Bronsted acid in aqueous

23 1£99.1 % of a substance dissolved in 25.0 mL of water is extracted

A) HCIO; B)HCIO, =~ CG)HOCI D)HOBr  E)HOI . into 25.0 mL of organic solvent, then the distribution coefficient for
19. The quantity TAS _ : . the substance between the organic solvent and the water is -
' Lhni?é e '!g may be expressed In units of i ' Si 99.1% d'une substance dissoute dans 25 mL d'ec sont exiraits
A)J quantite TAS peut étre ' . | dans 25 mL d'un soivant orgenique, alors le Joefficient de
B) K C)J-K o B S E) Latm K" distribution p?ur la substance entre Ig solvant organique et lezu est
. : : ; ' A) 1.01 x 10° B) 1.10 x 107 : .
20. In which of the followi 1 - A y 2
substance by work (w ISQO)E;rOP ess,esi 's energy transferred into the ; g; .:?8 % 10° DR

Dans lequel des processus suivantf !‘éne;g}e esf elle transférée

da”i’)a zUbeén_Ce ,oafr le fravail (W>0)? £ 24. Which of the following compounds forms the ,sitron'gest hydrogeh
xpansion of a gas against the surroundin y ; . e bonds with itself? '
; SEREY s/L o X - L. . :
d’un gaz dans I'environnement S fiai ' B Lequel des composés suivants forme la plus forte liaison hycrogene -
B) -Expansion of a gas into a vfa avec lui-méme ? ; i T
_dans fe vide A) HF ~ B)HCChis  C)PHs.

-

i

; cuum / L'expansion d'un gaz

13

 D)HsS E)CHy

I
|

v
£
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D) 5700:B.C1z:

"‘Q’_G. Of the jfollowing, which is the strongest oxidising agent?
> Lequel des composés suivants est le olus fort oxycant? WWW.touslesconcours.info
g Given the information shown below. how. many millimotes of

AV B)O, C)Oy D)0,> £y OH

26. Which of the following reactions does NOT reprasent tha formation

of a Lewis acid-base adduct?
Laque{fe des rgactions suivantes NE REPRESENT.. PAS |a
formation d'un acide-base au sens de Lewis?

tA) (CHyN + BF, — (CHYNBE,

(8) ANOHE, + OH™ — AKOR),

W0y HAQ B e MO0

{03 S+ CF° = Sl

€3 PF, # Fr — PR

27. Which of the follcwing is the best method * for preparing

(CH3)sCOCH?
Laquelle des méthodes suivantes est la meilleure méth

¢ ure ode r
preparer le (CH3):COCH; 5"

{42 NaOCH, + (CH,3,008

w
]

seni ogead oo HS0
(51 {UH 008 + CHyt b . 1
HS0,

{C) $CH,)CH + CH0H —
(£ {CH),CO% + CH,08
(B ({CHYCOR + CHY  ——

28. The half-life of 14C is 5730 years. The 14C activity of living material

is approxiz_nateiy 920 decays/hr per gram of carbon. A fragment of
wool fabric.-from an archaeological site has an activity of 680
gecayslhr per gram of carbon. The approximate date of the sample
La qgm?&{ie du 14C est 5730 ans. L'activité de 14C dans un
matériau vivant est approximativement 920 /n par gramme de
g«:jéhbgnf. Un - fragment dune fabrigue de Izine dun site
reheologique a une agtivité de 680 /h par gramme d

échantillon datede == e ks
A) AD.1950 '

C) 3700 B.C.

e LI

K,HPO, must be added to 100 mL of 2 0.100 M KH,PO, soluticn 1o
obtain 2 solution with a pH of 7.07 :

A partir de l'information donnée ci-dessous, combine de milfimoles -
de K2HPO4 doivent étre ajoutées & 100 mL d'une solution de
KH2PO4 & 0, 1M pour obtenir une solution & pH 7.

o

HPO 5 b0y + MY K =500

A) 1.0 mmol  B) 5.0mmol C) 10 mmol D) 20 mmol E) 25 mmol

30. Which of the following correctly indicates the order. of reactivity of

the halides below with sodium iodide in acetone?

Laquelle des propositions stivantes indique correctement l'erdre de
réactivité des structurés ci-dessous avec liodure de sodium ¢ans
l'acétone ?

P f . N
{O)-pe (O)—cupe  y—Chist
Vet W f S T 4 :

l il it

A) > 1>l
B)ll>1{=>1l
Cyn=Hi>1
Dyir=1>1 .
E)iii>1fl>1

31- Le propane traité avec du dibrome en présence de rayonnement

* following is the structure of A? -

ultra violet conduit majoritairement au 2-bromopropane (A). Lorsque
le composé A est plaéé en milieu ethéré anhydre en présencs de
magnésidm il réagit pour donner un composé B. le composé B

aprés réaction sur Pethanal donne un intermédiaire C. L'hydrolyse . -

de C abodti & un composé D. Laquelle des structures ci-dessous
correspond au compose A ? :
When propane is reacted with bromine in the presence.of UV
light the resulting compound is mostly2-bromopropaine(A).
‘When reacted with ahhydride ether in the presence of

' magnesium, gpmpound A gives rise to-compound B. B

' reacting withié¥y= "\ produces an intermediary substance C '
which eventuallyvinud up as compound D. Which of the




) B) Q) WWW.tousl esconcoursaif gaguelie des structures ci-dessous correspond au com;;.’(?

I e CHy—C—M gileie .
3 é I gBr CHs C, 'T_OMEE
' H H H.
. E)
CHH CH,
s , i
H H OO

— POl W 1 : Ly 1 {

- ,.=“§aie des struciures ci-dessous comesps. ' au composé B ?
o ; - : - = ; =

wmen of the foflowing is the structure of compound 8 ?

A) By C)
! CH, ;
CI--{g—cT} H;  CHe—C-MgBr CH;;.—E Eg—owa
Br H . I;-[ H o
E) i
G
. CHr(!:f—%~Oi€

H O

=z .xuelle des structures ci-d '
50 _ -dessous correspond au composa C ?
Ahich of the following is the structure of cor oounde; o

~ B C)

e Gy

b4 Hy - CHy—(~MgBr CHy—C—C—OMgBr
R H H H
3 . E)

. (}:H_?, . ."’ . CH; -
\;ﬂ.;—?—-i-OH : CHs‘*C__CE¥0H‘ |
H s 10
. 8 '

Which of the following is the structure of compound D 7 ¥

A) B} C)
H CH; - CH
CHy—(—CH; CHy—C—MgBr CHy—C—(—~OMgEr
Br H H H
D) _ E) '
g
CHC—C—OH  CHs=(—(FOH
H H H O

35- |'analyse élémentaire d'un polymére a donné les résuitats suivant

. degré de polymérisation 1500 , Masse crslaire 63,76 kg.rial' % en C

384:%enH48: o en Cl 56,86. La masse molaire du monomere est
de: ' , E
The elementary analysis of a given compound gave ti:e following
results : Degree of po!ymerisatr’on 1500 ; Molecular weight 83,75
kg.mol'; % C384;% H £8; % Cl568. Whatls the moleculfar
weight of the monomer?

A) 62,5g.mal” B) 93,0 g.mol”

C) 98,1 D) 78,5 g.mol "

E) aucune réponse n'est juste/None of the above.

36- Laguelle des formules brutes ci-dessous cotrespond au motif du
polyrmére de l1a question 35. .

Which of the following can be said to represent the formula of the
compound in question 357

A) CHClp

B) CH,LClI

C) C,HsCl

D) CH,CHC2Hs

- E) aucune réponse n'est juste/ None of the above

37- Le polymére de-la question 35 est: The polymer in question 35 is
A) Elastomere ' : :

B) Polyamide .

C) Polychlorure de vinyle

D) Polyvinyl Chlorure e R

E) aucune réponse n'est juste / None of the above




D
E

A) -982,63 kJ.mol™
B) -199,06 kJ.mol™"
C) 448,62 kJ.mol

38- Le produit de solubilité
olubi ;
%u sulfate d'argent est de: :te BY SHiEstS oergent est g2 4.8

The product of th ili
prc e solubilit i i
e e i e v of s‘ﬂver sulfate is 4.8, what is the
A) 8,6 mol.L” B) 4,8 mol.L™
g} 16,2mol " D) 1,58 mof L'
) sucune réponse n'est juste / None of the above

39- On donne les ies d
‘ ' enthalpies de formati .
composes suivants. /n the reaction tlt?gloif- pt.;‘;zse iy

formation of the different i, ¢ /. Koy i enthalpies of

241,82kJ.mol": AHY(NO)= o AHY(HSO)=
$RER . NO)= 90,25 kJ.mol" 5 H(H,0)= -
On considére la ré:acti . MOl LAH(NHy)= - 46.11kJ mol”
; on en phase gazeuse ¢ dessous : -1 Tkd.mof".
e - iy g

"3H o

ACp pour cette réacti
: ion est de (with a AC,
Mmasses [ 2 p o: 14,9 : l"
i res,;ﬂeczgiff:; atomiques de (The atomic wlighf oi‘;g?cif‘u" -
ent de (are respectively) 16, 14 et 7.'La :Jae:‘;:: H
: . iation

d'enthalpie standard d
E e cette réacti ;
enthalpy of the reaction ?) : aeton EStdo eI IR kgt

A) -270,17 kJ.mol”
B) -540,12 kJ.mol™*
C) 375,51 kJ.mol”
D) 452,02 kJ.mol”

S e
St

information in i
: guestion 9, wi ish i e T
6.8g of NH, reacts with 16g Of:,ft fs the variation in enthalpy when

A} 42,22 kJ.mol™
B) -72,44 kJ.mol™
C) -60,08 kJ.mo!™
D) -86,41kJ.mor”
E)

aucune réponsg n'est juste / Nohe of tiie above

41- La variation d’énth i ndatd ] i :
! alpie standard de i
500°C est de (The Blcal la réaction de la io :
de {The change in standard e,:}tba!py in qg:;;g;ng:ée; -

500°C is):

) 468,02 kJ.mor”
) aucuna réponse n'est juste /

None o_f"fheuébove

10
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e coafficient d'absorption molaire d'un COMPOSE {The coefficient
L f molar absorption of a compouni) '
A) Varie avec fa longueur d'onde
(varies with wavelength)
B) ne dépend pas de la longueut d'onde
(doesn't depend on its wav: 'ength)
C) dépend de Pintensité de la adiation
(depends on the intensity of radiation)
D) est aroportionnel a la,puissance de |2 radiation
(is proportional to the strength of its radiation,
E) aucune réponse n'est juste / none of the above

43-On donne ! constante de Planck h= .6,62.10'3“, nombre d'Avogadro

Na = 6,22.1023 rénergie d'une mole de photon d'un rayonnement
-moncchromatique est de 119,6Jmor1 a quel domaine du spectre
glectromagnetique apparient ce rayonnement ” (Given Planck h
constant to be 6,62.10°" and Avogagro number Na = 6,22.107
while the energy of one mole of photon has a monochromatic
radiation of 119,6Jmol” , in which region of the
electromagnetic spectrum does its radiation belong?)

A) infra Rouge (infrareD)

B) Ultraviolet (Uttraviolet)

C) Rayonnement gamma

(Gamma radiation)

D) Micro onde (Microwave)

E) aucune réponse n'est juste /

None of the above

44- 'effet photo électrique est associé /
Photo electric effect is related
to : e
A) a l'aspect ondulaidire de la lumiere /
the ondulating.nature of light
B) & l'aspect corpusculaire de la lumiere [
the corpuscular aspect of light _
C) aux aspects ondulatoire et corpusculaire de 1a (umiére /
the undulating ‘andi_corpuscufar nature of light
D) a la diffraction &1a lumiére/
light diffraction
E) aucune réponse n'estjuste /
None of the above,

-

a8



‘ ents par uf lecule, les
ption des rayonnemsenis par une Tno e o e
orbitales moléculaires non liantes . (N CCLIST
i 2 giantrons ip the orbil
oo

45- lorsqu'une molécule absorbe de l'énergie e spectre obtenW‘J\Mé-tOUSl esconcours.l [_]tJom cours de i'abs
UV visitle est : j | slecirons dans les e
When a molecule absorbs energy the UV visible spectre is of rays absorption by & moigcule, the sin
A) un spectre de raies /

is one of rays

Ci
et
&

2 — e~y - ‘C- : ..I‘
4) na sort jamasis impliqués dans les transiions electrioniqQues
A)nZ 1 12m2Is s

are naver involvad in electronic transition TOR——
o ) i3 i ol ransiticns electroni
B) Une superposition de raies et de bandes / B) sont toujours 1mpiuques gans lgs k E:T:';ﬁ
i ol i r fo ~Hry { it
a superposition of rays and bands are always involved in elecironic tran
Cj un spectre de bandes !

| C) peuvent cire irmphques dans tes transitions alectronigues /
is one of bands ‘
D) cela dépend de ia molécule /

could be inv-ved in electronic transition

D) ne quitte 12mais teur orbitales molécuiaires /
depends on the type of moletule
E) aucune réponse n'est juste /

never leave their orbit _
E) aucune réponss n'est justs.
None of the above is correct None of the above is correct

46- dans une molécule les niveaux diénergie de vibration rotation, sont/

The levels of vibrati yi @ 2 salo 0
S8 mat on engrgy ina molecule are: : e, & £.22.10% Les masses molaire o
A) des niveaux d energie électroniques / 43--Le nombre d' AVoga 4 tivement de 23 et ¢e 35.5; l'arréte
similar to those of electronic energy atomique de Na et Cl sont reSEJE!_%‘:E.a i{m ra‘densi-‘-é du NaCl est
B) des sous niveaux d'énergie électronigues / de la maills de NaCl est de 5.,5/. . bva 559 107 and the atomic
lower that electronic energy N i de: Given the Avogacro Numbf_" - 23 and 35.5. and the size of
C) des niveaux d'énergie supérieur aux niveaux d'énergie i weight of Na and Cl to be respectively 25 =1 aravity-of Nall ?
électronique / NaCl to be 5.57 107 cm, WWhat is the Speciic gravity «
- . P

fiigher than those of electronic energy A) 4573 gbm™
D) cela dépend de la molécule / B} 25.131 gCm”
depends on the type of molecule Ci 317,233 gCm”

. E) aucune réponse n'ast juste /.

. wur _ D) 2.175gCm’
Wone of the above is correct . :

: ‘est | . { ve is corract
£} aucune réponse n'est juste / None of the above 15

| | ant un composé a la
47- deux molécules ayantle méme nombre d'atome ont /

50- La densité optique d'une solution conten

; i P i ia
. : : - = 0.2, Le tre'at optique de
Two molecules having the same numbers of atoms are said to : doncentration d2  0,02mol.L ef(te dgoef:ﬁcient doxtinction de ce
A) des niveaux d'énergie électroniques identiques / ' cellule utilisée =st de 1 Cmd de mesure est de:The optical
have the same level of electronic energy ' compose” 8 la fc_zngue;ur d 0?\ Endvof'c,:onc?nt:'affoﬂ 0.02mol.L" is
B) des niveaux d'énergie de vibration rotation équivalents / ' density of a solution of @ compou

the same level vibrational energy
C) des sous niveaux d'énergie électroniques identiques / | this compound - 8) 1000 Lmof ‘e’
be at a lower level of electronic energy ' ' A) 500 Lmol”cm, > D) 1000 mot.L ™ cm™
D) des sous niveaux d'énergie de vibration rotation équivalents / C) 500 moi.L" cta/f ste / None of the above

be at a lower level of vibrational and rotational energy: 6 E) aucune réponse nest juste / None

E) aucune réponse n'est juste / '
None of tie above

. i 2 . . ‘C,,;‘-.;#\ |
o P | | (/’ | 13 .

0.2 in a light path of 1 cm. Wha

»

g o
t is the coefficient of extinztion O:
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